MATHS WORKSHEET

CLASS- 2
Q.1. Write-

.  49Km -33Km= .

Il.  What must be added to 35 to make it 70=
lll. Length of your pencil box can be measured in=
IV. 500m +500m= =

V. Subtract 19 from 47=

Q.2. Match the following-

I. 10X5 6 tens+ 4 ones
Il. 9X8 5 tens
. 8X8 50-8
IV. 7X6 70+ 2
V. 6X8 50-2

Q.3. Solve the following —

. 67-___=31
. 41+ =68
M. 25+ =53

Iv. 98-__ =50

Q.4. Reshma bought 36 pencils and 36 erasers for her classmates. Find the
total number of items she bought.

Q.5.0ut of 85 shirts, 41 were sold. How many shirts still left?



